Overall Problem: 
We have a need to drive a Bistable Rotary Solenoid to control a robot arm. 

Components in the Solution:

1. TI, DRV8801 motor driver (DRV8801EVM board)
2. Atmel processor

3. Bistable Rotary Solenoid

Overall Design

The goal is to drive the bistable rotary solenoid CW and CCW using a PWM signal. The Enable pin is supplied a with a PWM signal. Phase signal is use to control CW and CCW. For this experiment the mode1 and mode2 pins are 0 and 1 respectively.
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· Channel 1 - Out+

· Channel 2 - Out-

· Channel 3 - Enable (PWM signal)
· Channel 4 – Phase

 In this scenario I am expecting Out- to have the compliment of the PMW signal seen on Out+. Base on the limited information I hope you can shed some light on the problem. If you need more information please feel free to e-mail me at mahendra.gunawardena@omnyx.com or call me at 765-271-1638.
Analysis done on 10/21/2011
Phase Low, PWM signal on enable, Mode1 Low, Mode2 high

Added following condition before Phase was change to high on 10/21/2011

Phase Low, 0% PWM signal on enable, Mode1 High, Mode2 Low (Braking)
Phase High, PWM signal on enable, Mode1 Low, Mode2 high
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Above scope plot represents the Solenoid CW and CCW. In the above scope plot the Solenoid is disconnected thus there is no load. On channel 2 when the phase is low complement of channel 1 is expected instead the result is a solid high. Both segments of scope plots are expanded below.
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